
Lecture 12 - February 28

Reactive System: Bridge Controller



Announcements

• Released: WrittenTest1, Lab2 solution
• To be released:
+ ProgTest1 Guide (by the end of Wednesday)
+ ProgTest1 practice questions (by Thursday class)



Recap of Previous Classes + Before-After Predicates
+ Example IRs
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Discharging POs of original m0: Invariant Preservation
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PO/VC Rule of Invariant Preservation: Revised M0
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Discharging POs of revised m0: Invariant Preservation
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Lecture

Reactive System: Bridge Controller

Initial Model: Invariant Establishment



Analogy to Induction: 
Base Cases ≈ Establishing Invariants

Analogy to Induction:
Inductive Cases ≈ Preserving Invariants

Initializing the System
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PO of Invariant Establishment

K(c): effect of init’s actions

v’ = K(c): BAP of init’s actions

Components

Rule of Invariant Establishment Exercise: 
Generate Sequents from the INV rule.
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Discharging PO of Invariant Establishment
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Lecture

Reactive System: Bridge Controller

Initial Model: Deadlock Freedom



want to prove:
system is deadlock - free:G(ML_out)

..........
REACTIVE SYSTEMS E(ML_in)
↳ deadlocks

dead
↳ praction to the userfear.

(Got) va-in))
↳
canoccur

usethat
↳ None of events' guards

some event is- is satisfied.!
enabled. =2G(ML_out) x 2G(L-in)


